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3����������
�	����������������� ��

��������	���
��
��	�����������������������������������	���������� !��"!�#�$�	% &��
�������
��'%'��� !��������()��!*�����	�+�,�-	����
����#�����3 �����+��	�#������.%���
���-�	�"�!/�0"�,� (Primary data) ���$��������1��0��23�+��	���������,����'&3
���
� �'
4�
	% ��-	��������$�� ��� 

(1) �
2%
!4������+������5���!�'�	%�,���������� !��"!�#�$�	% &�������
�
�'%'��� !���#�����1��
�
���	�"�����
#�%�������	#��0	 ��������&����#�+"� 

(2) �
2 +��!��#��5���!�'�	%�,���������� !��"!�#�$�	% &�������
��'%'��� !��
�#�����1��
�
���	�"�����
#�%��'-
�&����	#��0	1��!6�
	�����&���������&�� 

(3) �
21
��+����'!7��5���!�'�	%�,���������� !��"!�#�$�	% &�������
��'%'���
 !���#�����4��
�
���	�"�����
#�%���#��,%�	#��0	!6�5������&����#�+"� 

1���-�	�"��

,�0"�,�(Secondary data) $��������1�%���-�	�"��18,
,
���9�-	�&����������
������-�	���%�������������&��������������&��	�	��3���	�����!*�
����+��	�������������8��
10�+���4�,
�#�$� �'����1����
����#�$�1� �'	% &��-	�$�� 
�
3�!�"���#��������������� ��

�����������������'�#���������-�	�"��

,�0"�,-	�10�+���4�,
 �'���1��		��#�$� �+��	
�,����'&3 �����������4�,
 �'1��		��#�$�-	�$��� �'���-�	�"�!/�0"�,-	���� !��"!�#�$�
	% &����������������������!*�$!$����������,�-	�����������
��#�$�	% &���������
�
�'%'��� !�������-�	�"����������������������� 

1) 4�,
0�2:3�#�$�	% &�� 
��'%�����	% &���5���!�'�	%����� 2�1������	�#�$�	% &�������!��	�� �'�#�$�

	% &���;+�'����	�#�$���������������������	�������;+�'1�������!*����	% &�������!��	�
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2) -������������������������� 
�������#�$�	% &���������
��'%'��� !������-�	�"��;�������������-����
�

	%�#������4 �
��(1 �
�)�&��	�#�������4�,
�#�$�1��160,000 �,������/<�"���4�,
  (2����	�)� �'
���-�	�"����������-����
�	%�#����� 16 �
��(4 �
�)�&��	�#�������4�,
�#�$�1�� 640,000 
�,������/<�"���4�,
���.%��%���-�	�"�����,=����1��0��23���4"�!�'�	%����+��	�&�$��-�	�"����
������-�	������� 

(1) 
���
��5��� %��$���!*��2 ��,�������� 
(1.1) 
���
�������	��$�� �� 

- ����,����
��������� 
- 	���������� 
- 	����1#������� 
- �����	������(�
�	%�#�$�, �����	���� ��-���) 
- 	
!��23�������(�8�-.�, 
�'����, �����	�����) 
- 	
!��23�����	����1#������� �'�����	���	1��	1�� 
- ������� �����!�'�#� 

(1.2)  
���
� !�4���	��$�� �� 
- ��
8
�,%�(�#�$�1�) 
- �����������#���,������������ (���$((>�, ���()�, ���5�	�%#��
�	���� 
 �'�����	�����, ���!�'���0��, ���1��1�,��� ����� �'�����������) 

- ����������%���
0�2:3�(���	���'���, +��1
,�, ��!���) 
- �����������%.��
�.� 
- ������� ������������� 

(2) ���$��������-���#�$�	%�����!��	� 
�
$�$��%�&����&������������
��%���'("���#��

-�	�"����$���'8"��#���������!*�+���/�������!�'��2���
���
� �'4�
	% ����
 
��'!?�!*��'�'�����10 !?�
��	��
���������-	������	������ �'���	�
���,������	��'� 12.0����
	���	,������	�
���	��%�����,��"��'���-	�=������+��	������
� �'1&��23!?�+.�. 2553  

�����1��

,/�� �'-�	�#��������������	���	������,����'&3
���
� �'4�
	% ��
-	�������������� 
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1) 1��1���-	���,�����#������
������������,��"��100% 
2) -�	�"�����#���������!*�+���/��������#���2��������;+�'��������� 2 ���	����	
���	�����@����–�1,�&��������!*��#�$�
��<�"�����������$��$���,�����#�$��	�
<�"���&��	��	�<�"��� 

3) ����-�	�#����-	������	���	5���
�	��#�����'%
 �'���4�!�'����3 �'
���
�-	�
��������!*������,�!�,��2������������,����'&3������������!*��+�������,����'&3

���
� �'4�
	% ��-	�����������������,�����������,$���,����'&3
���
�
 �'4�
	% ��-	������������1���� �'1,�� ����	��-��$!���� 

 
3�$����#�%��)*

����+�����,-./�01.2.4/�5678.9�-05:�

�"����!7��
%��1
�=,%�����8���#����4�!�'����31
�=,���$����%
�	��'�'����-	���������
5���	���'������!*��%��!*��"��3�&��	�!*�%���.$���-���	�"���%-���-	��"����!7��
%��-	�
4�!�'����3���� (Present Value of Benefit: PVB) &��		������"����!7��
%��-	�
���
����  
(Present Value of Cost: PVC) -	������������ 
 
   NPV = PVB – PVC 
      
    = ����B

10                  10 

t         -   ����Ct
 

       t=1   (1+r)t              t=1   (1+r)
      

t 

    = ����B
10  

t - Ct
 

       t=1        (1+r)
      

t               

   NPV = ���B
10 

t  - Ct)(1+12)-t 

��������  B

       t=1 

t

  C
  &���8���4�!�'����3-	����������!?���� t 

t

r    &���8���	�
���,���&��		�
���	��%�������&��'1���	��'� 12 
  &���8���
���
�-	����������!?���� t 

t    &���8����'�'����-	��������� (1,2,….,10) 
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&������
��1,�����������������'�������&��'1������������/�,� �'�����,�&��	$��
������.�&��"����NPV ��	�����	�NPV > 0 &��	������!*�%��� 1����������������9��������&��'1�����'
���
�$����������	��"����!7��
%��-	�4�!�'����3�����������"����!7��
%��-	�
���
�����
(PVB>PVC) 

 
3�$�!������+�
�;�)��<	��(����������,=.4.>?/-AB2/�C6/?B�9�=AC:�

	�
��1���4�!�'����3
�	
���
����	��"����!7��
%��-	�4�!�'����3���&�������"����
!7��
%��-	�
���
�����4�!�'����3�'��,�-���
�	�	��
�������/�,�-	���������������#��	�
��' 14�!�'����3� �'��' 1
���
�-	�����������$��!��%���$!
�������&��	�,��!*��"����
!7��
%�� �������!���%����%����+��	&�	�
��1���4�!�'����3
�	
���
��(BCR) ������ 
   BCR = PVB/PVC 
     
     ��Bt (1+12)
    = 

-t
 

 ��Ct (1+12)
 

-t
 

-���-	��BCR 	���'������%&������������&�����&��	��	�����&�����.$�� 
�&������

��1,������ 1�������������������&��'1� �'�
��������������/�,����	�����	�BCR = 1 &��	�����
�������&���� 
 

3�$�$������;����D��E�	��"��<%������,F4/.1467�C6/.�B>�C./8149�FCC:�
	�
��4�
	% ��0����-	�����������	�4�
	% ���!*���	��'
�	��������&��	

&���8��	�
���	��%�������'%������,�������#��&��"����!7��
%��1
�=,-	�������������������%�"��3�
������	�8��	�
���	��%����'��%&����������������,��� ����#��&��"����!7��
%��1
�=,������!*�%�� 	�
��
�	��%����'��%�&�����1"������'�#��&��"����1
�=,���������   �'����
�	$!
��%�������	�
���	��%���
������+,��1"�-���
���#���%�������1
��'��	�
���	��%����'��%&��������#��&��"����!7��
%��1
�=,�����
������%�"��3+	���5����.��	�	�
��4�
	% ��0����-	�������������	�#�&���&�� R ��	�IRR  ������
-	��R �'1����8&�$�������� ��1����-���������� 

 
 

t = 1 

10 

10 

t = 1 
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    ����B

10 

t - Ct = 0 
      t=1        (1+12)

&������
��1,����������������������
�����������
������������/�,���.��	
����	�IRR �����1"� �'
�	�1"�����	�
���	��%����;+�'�&��	����1���	��1-	���� 

t         

 
3.3.4���	��
��%&�����,06IJ6KL�0.1?BM:�

����#���2�'�'��������
��&��	�#����!?������#���,�����5����'�#��&��"����������
�
1'1��(	������	����1
�) ������%�"����
	% ����,�1�1
=,1'1�&��		�������$������'�'��������
�
��	��#����!?������#���,����5����'�#��&�4��#�$����$����%�� 
��'!?������ ��������������%�#����
��,����
���,�� �� 

 
3.3.5����
��%���'(%
������O'
�,P.42?/?Q?/I�R467I2?2:�

�!*����������4�-	��CBA 	�	�$&�&��	$��	����$�
�	����!����� !����
�� !���
��
 !�&����&��	��
��-	�
�� !���������,=����-	�
�� !�� (Variable-by-Variable Approach) 5����'
!A,%�
,��� ��
�� !� 
��'
��		��������!�'�	%$!�����3 -���
	������� 

(1) ����#�������	
�� !����1#���B1#�&��%����,����'&3���������,����'&3�����������
�� !�
�������
���
�	��$�� �����������������5��	��
8
�,%��	�#�$�1�� �'
�� !�������������%	��$�� ��
���$��������-���#�$�	% &�������!��	��

(2)��� 
��'
�� !���'�#�����#�&���"����-	�
�� !��!*������ ����� �'����� �������
����#�&���&�����1��+��=3���'&��������!*�$!$��������1
������� ����� �'����� ��������!*�
1��1���������5����#���2��������+����23��!?����6 ��������#�$�	% &�������!��	��;������	�&���� 5 
!?�(2548 – 2552) 

(3) �#���24����������-�	��&���$�� ��  BCR, NPV  �'�IRR ���������
���9�����!*�$!$��
-	�
�� !�����9���-2'����#�&���&�
�� !�	���9�����&������� 

 
 
 


